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Instructions to the Candidates
The question paper is in the form of test
booklet. All candidates will be assessed on

identical questions.

Each objective question is provided with a text
and/or figures wherever applicable with
multiple answer choices (A), (B), (C) and
(D). Only one among them is correct and

most appropriate answer shall be selected.

All objective type questions carry equal marks
of THREE for a correct answer and One
negative mark will be deducted for each
wrong answer.

A separate OMR answer sheet is provided to

all candidates for answering.

Before signing the Attendance Sheet, the
candidate should write the Question Booklet
Code and OMR Barcode in the attendance
sheet. Candidates should sign against their
names only.

Read the instructions on the OMR sheet
carefully. Use only Ball
(Blue/Black) for writing on OMR sheet and
marking the most appropriate answer.
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AT Fa1e, o Y| 3T 3T YA G T Fehel
g 3R a1g 7 FideT gaTer W aTow 3T FEA & |

afE 3raege g, ot GREder # 3Telsy T
W Feal SR fRAT ST Gt 81 58% T
370747 ofie AT &F ety

ff@d gdieT |aTed g W, 3NTHAR 3cck
QRECTehT T FUR & BeeT el & 1S 3R e
NTANR 3o} Rt Afierer 1 @1 q2r
gl ufd 39 9 |

gt FATCA @ 9T (1) f@a adam Fer
97 o . w1 s @ § 3k (2)
HAIR 3caX 99 I=dgh A ¥ & 3
fre sft aRfRufy & spadf s wrr s &
ST |

10.

11.

12.

*kkEE

Instructions to the Candidates
Multiple answers for a question will be
regarded as a wrong answer.

Question booklets have been marked with A
or B or C or D or E on the right side top
corner, which is mandatory to be written on
the OMR sheet in the box and bubble
appropriately, failing which, the answer sheet
will not be evaluated.

Although the test stresses on accuracy more
than speed, it is important for you to use your
time as effectively as possible. Do not waste
time on questions, which are too difficult for
you. You can go on to other qyestions and
come back to the difficult ones later.

Space available in the booklet could be used
for rough work, if required. No separate sheet
will be provided.

On completion of the Written Test, tear the
OMR Answer Sheet at the perforation mark at
the top and hand over the original OMR
Answer Sheet to the invigilator and retain the
duplicate copy.

At the end of the test (1) Written Test Call
Letter(s) with photograph pasted on it and
(2) OMR Answer Sheet should be handed
over to the invigilator and shall not be
carried by the candidate under any

circumstances.
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Te

625 ST aTell Teh =T, ST 50 TATE T 39T F TAIT 9T FTalg 48 B 1 T Tl
oY, @l ¥ 2018 # 30 fAeTse T =Ne 3m$ &f| 30 ¥ i 3ghed o 47 g2
@2 - (dn) 20 (@) 45 @5

A company with 625 workers, each working for 48 hours per-week for a duration of
50 weeks had 30 lost-time injuries in the year 2018. What is the frequency rate of
that year?

(A) 2 (B) 20 (C) 45 (D)5

HTTALHT 3URIOT o FoIT EI&TT Hohal R oheT T31T ST 3TANRT fohaT SATT §72

(@) drel 397 hT gea8{fH TR e T 3@

(&) &Y T S IS8R WX Aihe, RAIRT 3@

(%) wTeT 131 BT gaefA oX wihe Rt IR
(3) The geifH W arer R 3ma

What colours are used on safety signs for firefighting equipment?

(A) Black pictogram on a yellow background
(B) White pictogram on a green background
(C) White pictogram on a red background
(D) Red pictogram on a white background

Hehe ol [T AT &7 G THTET IR T TTE?

(T) 9.4 3. , (&) 2T RiFT-
() ToE=T (3) SN’ fog=or

Which is the most effective way to control hazard?

(A) PPE (B) Administration controls

(C) Elimination (D) Engineering controls

IMSTH 3786 o AN, Teh &1 H IR 3(Terdl & Fehdlel oh [T, ST A5 1Y [Gaw §
(T) 1200 (s) 2400 (1) 3000 (31) 6000

As per IS 3786, For Loss of four fingers in one hand, the equivalent Man Days Lost is

(A) 1200 (B) 2400 (C) 3000 (D) 6000

| &/, ‘warah.” (shezfres Geam) / Sci/Engr. ‘SC’ (Industrial Safety) - S#/June 2019 | | 1
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5. Wmé?w,ﬁmmwmmmw,mﬁ
& 310 AfAew oo gf a1 wRig gf

(T) 20 (&N 250 (@) 1000 (21) 2000

‘As per factories act, safety committee to be constituted wherein more than
Workers are engaged or employed.

(A) 20 (B) 250 (C) 1000 (D) 2000

6. 3MTI.TE.U.TY. 18001 & HEIAITT YHT 9T H §A¢ (@ & Tolv, LT,
3. TT.TE.T.TE. 18001 & YATOIT HITST T 3MSTHIN 45001 F_ d gRafdd =
o

() AT 2021 (a) ST 2021
(&) RdeT 2021 (3 fegex 2021

To retain the recognized certification of OHSAS 18001, Organizations which
are certified to BS OHSAS 18001 should migrate to ISO 45001 by

(A) March 2021 (B) June 2021
(C) September 2021 (D) December 2021

7. Gt feeivur F fhg UeereT 3UhUT @Y €19 T3 393THsT hel ST 87

(T) T gaT faveryor () gy gaT fargeror
CHGIERUREGIRCEC R ] (3) T Ife; fargeivor

Which management tool is called as a top down approach in safety analysis?

(A) Event Tree Analysis (B) Fault Tree Analysis
(C) Job Safety Analysis (D) What if Analysis

| 2 | [&msfr. wa. (@hemfrs wwam) / Sci/Engr. ‘SC’ (Industrial Safety) - JeT/June 2019
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8.

10.

11.

ST feRoT 71 e 3827 &

(T) Hehe T Hediehel dlel 3T SHITEHAT T & &t & [T
(&) ¥ Tt 1 HaroT

(&) Tehe gt

(1) T 5 Fe A S 35 T

The main objective of risk assessment is

(A) To evaluate hazard and minimize the risks
(B) Remediation of contaminated sites

(C) Hazard management

(D) To know source of pollutants

FRETAT &, AT &3 T ITUTAT ZaRT T ST §

(7) g3 & Fer FEAT X 1000 / HRR FHIFEAT i et Hear

(o) Faferse gu el Tt 1 sher & x 106 / HIFET SR 1 o For-6ie
(%) gEe3iT T el WEAT X 106 / HTFAT ZART H1H o Fol-HE

(3Y) gele=T3it & et TE&AT X 106 X FHIFAGT STRT FHIH & Fel-He

In factories, incidence rate is calculated by

A) Total No. of Accidents x 1000 / Total No. of Persons Employed
B) Total No. of Man-days lost x 106 / Total Man-Hour Worked

C) Total No. of Accidents x 106 / Total Man-Hour Worked

D) Total No. of Accidents x 106 x Total Man-Hour Worked

(
(
(
(
WAt gerria UN & gaffaor & agd, UNHD 1.0 & d8d Teh Uerdy g
(T) faTwies (a) TETRF CGURERIIER] @) ST @

Under the UN classification of hazardous materials, a material under UNHD 1.0 is

(A) Explosive (B) Corrosive (C) Radioactive (D) Biohazard

Feafaf@aa & O i a1 dove vgae 3R @A Reeyor 3reaas 781 &

() GEEeT 3iedvor () HAZOP

(@) Far-afe fageryor () aIv-gaT fagesor

Which of the following is not hazard identification and risk analysis study: »
(A) Accident Investigation (B) HAZOP

(C) What-if analysis (D) Fault tree analysis

| &/, ‘v’ (sMe=fres §Rem) / Sci/Engr. ‘SC’ (Industrial Safety) - ET/June 2019 | | 3 |
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12. &+ wraffesar §&ar (RPN) A 31T FAET g1 Fehell
(@) 1 @) 10 (&) 100 (&) 1000

Risk Priority Number (RPN) cannot be more than

(A) 1 (B) 10 (C) 100 (D) 1000

18. 1: 682 & faTAR 3HTUIT o HTY ShIAISiTaleh Ga & Selehld & HROT 581, x 10#T. x 3. &
3TPR & HHAY F TeFdTole T el I IT0TAT Y

(@ 17.2% | () 16.2% (&) 15.2% @r) 14.2%

Calculate the Oxygen Deficiency in a room of size 5m x 10m x 3m due to spillage of
cryogenic liquid with expansion ratio of 1:682 '

(A) 17.2% (B) 16.2% (C) 15.2% (D) 14.2%

14. argFsey IRFEATAIT @ IHAR R By TTRedher FERT @91l & IR Faffepe
ST 8, Ueh 7g el A TR Cole IRaTIoT forer Reemer aet & 3fceler amer &

(0) RRRar aet v (@) ReRar at &
(&) Rar gt &y (@) TE2Rar g7 v

The atmospheric conditions are normally classified according to six Pasquill stability
Classes, a neutral coning type plume dispersion falls under which stability class

(A) Stability Class A (B) Stability Class B
(C) Stability Class D (D) Stability Class F
15. #igw, 3o+ §3¢ 31k a11ss 2re LRGeS

(T) HAZOP (&) JSA (@) ETA (&) PHA

Nodes, design indent and guide words are associated with

(A) HAZOP (B) JSA (C) ETA (D) PHA

| 4 | |3wmssfn e (siteztfrs wRem) / Sci/Engr. ‘SC’ (Industrial Safety) — S#T/June 2019
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16. FTA fa2avor &, e Wraffie gear &
(T) TG HIAT ST &, R 3T g2 AT S
(3) 987 3 e g arelt T3 W R
() 37 a3l o) AR T 8, S et F FR A §
(31) g7 T oM T

In FTA analysis, a primary event is

A) considered as independent and is not further broken down
B) dependent on events that are lower in the tree

C) dependent on events that are higher in the tree

D) the top event of the tree

(
(
(
(

17. wor. dr.3fY. $iSROT aTel el Eehl T Helg ol SST hiel & TelT Telldat YOTTell §] 3Maedh
STl % YaTg &3 T AOTAT | AN T e 10 HeX 8 3R STol PER oA &I
geled 10 lpm/m?§1

(@) 31.4 Ipm (s1) 314 Ipm (H1) 3140 lpm (31) 31400 Ipm

Compute the flow rate of water required for Deluge system to cool the surface of
spherical tank storing LPG. The Diameter of the Sphere is 10m and the density of
water spray application rate is 10 lpm/m?.

(A) 31.4 Ipm (B) 314 Ipm (C) 3140 Ipm (D) 31400 ||5m
18. frafaf@a 7 & i &1 ve ey 313 axam a7 87

(v) 3 Frge () Fxgerar

(&) 3713 &7ar (@) ST FaTeT

Which one of the following is a passive fire protection system?

(A) Fire Hydrant (B) Sprinkler System
(C) Fire Break (D) Water Monitor

19. dedr fafRaAToT Sehrsat fonet TehR o s7arsT 37TRISIeT & 3icsid 3melr §
(V) §oehT T (S) FTYUROT Ghe
(&) 3= Hhe (V) (3N 39 "@he ()
Battery Manufacturing units falls under which type of building occupancy

(A) Light hazard (B) Ordinary hazard
(C) High hazard (A) _ (D) High hazard (B)

| &m/31fr. ‘..’ (sibezfres Fwam) / Sci./Engr. ‘SC’ (Industrial Safety) - sE7/dune 2019 | | 5 |




| e wfeT #78 / Question Booklet Code | A | | smédramest / IPRC

20. HTA-315-3TFATSE ThR 3 HTIAAHE T SHideT el §
(© 29y @ 5a8 @0 10 a§ @) 15a§

The life time of Carbon-di-oxide type fire extinguisher is

(A) 2 years (B) 5 years (C) 10 years (D) 15 years

21. YR dcdl &1 39T fhe TR & 43T T 3 3 ST §

(YR IFECIECA T (& e
(&) 3T JPR (@) UV/IR 3menia

Radioactive elements are used in which type of Smoke detectors

(A) Photoelectric type (B) LASER
(C) lonisation type (D) UV/IR based
22. qRAe g1 #H A A grsgretal Tl F0T AT F S faTples gar g

(W) 12% A 75% (a) 4% A 75% (M) 4% A 94% (3 12% ¥ 94%

A mixture of Hydrogen in air at ambient conditions is explosive between the range

(A) 12% to 75% (B) 4% to 75% (C) 4% to 94% (D) 12% to 94%

23. e Tt Rewe, forae ufafdhar & are 39 gl & et 7 ard @ def Tedl 8,
@ T ST &

() IrTOERIET () faades
(&) ciqfashueRor EEESE]

S

A chemical explosion in which the speed of the reaction front moves faster than the
speed of sound in that material is called

(A) Detonation (B) Decompression
(C) Defribilation (D) Deflagration

| 6 \ \am/aqﬁr. ‘v’ (3item e |@am) / Sci/Engr. ‘SC’ (Industrial Safety) — SsT/June 2019
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24. saerediier AT & fAT WaReTe a¥Hl & Faffertor & dgd, U &1 STgl faehics arg-3a

TAS0T TR His[e B, 91 o FHT ook HISG 8, I & &9 & aafichel T
T
(T) &7 0 (s & 1 (&) & 2 (3 &3

Under the classification of hazardous zones for flammable gases, an area where
explosive air-gas mixture is continuously present, or present for long periods is

classified as

(A) Zone 0 (B) Zone 1 (C) Zone 2 (D) Zone 3
25. I & Fcent # 3TN Sg & FTHT & HROT glet Tell SATTHTAS NART §

(T) TEE e (&) Ty

(&) \rssUEE (@ R

Occupational disease caused by deposition of excess iron in the body tissue is

(A) Asbestosis (B) Anthracosis

(C) Siderosis (D) Silicosis

26. IR TAfFToT & 3ETET ! AT & [T U 3UHIOT §

(V) g HeX COKIEIGIED
(€ eafed TR A (31) HeTarATdY

An instrument for measuring exposure to ionizing radiation is

(A) Lux meter (B) Dosimeter
(C) Sound level meter (D) Audiometer

27. X & 3l & 1Y AT g & ThieHS TUh & T HROT T1dT &
(T) 31mer (s FaTelr (@) e (3Y) Tehca

Accidental contact of Cryogenic liquid with body parts causes

(A) Fire (B) ltching (C) Frost Bite (D) Rashes

[ &=/, ‘w2’ (sftezifores wem) / Sci/Engr. ‘SC’ (Industrial Safety) - w/dune 2019 | | 7|
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28. §R SR T aTell AT (RSI) % FHROT §let aTell SATGATAS AR HIAH 7
(T) TR (ST) FArerar
(&) Frder et RAgH GIEEGEIR]

Name the occupational illness caused due to Repetitive Strain injury (RSI)

(A) Night blindness (B) Obesity
(C) Carpal Tunnel Syndrome (D) Blood pressure

29. 37T 35T AT (PEL) Teh forgmares e g, st CART Y& HI TS &
(T) OSHA. () ACGIH (¥Y) NIOSH (3N HSE

Permissible exposure limit (PEL) is a regulatory limit introduced by

(A) OSHA (B) ACGIH (C) NIOSH (D) HSE
30. Arfaf@d & & gad fFaermel 3MIsTehrT fafetor g
(T) 3rewr () drer () amrAT @) TFEX

Strongest ionizing radiation among the following is

(A) alpha (B) beta _ (C) gamma (D) x-rays
31. AR TNTIT TT A T WRATH 2 |

(@) T 1TH @ T2 TH (@) T 3 3 (@) T 4
lasers are potentially the most hazardous. |

(A) Class 1M (B) Class 2M (C) Class 3R (D) Class 4

32. gawe 3R 37 RIS (Feitret 3N AT UR) FgaATaed, 2016 & @957 8 & 3@R,
3Rl Scuee A aE & feaT deh ®r afr & v TRew R g
3YTASE T FOT FT ThaTl &

(T) 60 (&M 90 : (®) 100 @) 120

As per rule 8 of the Hazardous and Other Wastes (Management and Transboundry)
Rules, 2016, the occupier can store hazardous and other wastes for a period up to
days from the date of generation.

(A) 60 (B) 90 (C) 100 (D) 120

[ 8 | [3m/afr waa. (sitezfrs wwam / Sci/Engr. ‘SC’ (Industrial Safety) — ST/June 2019
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33.

34.

35.

36.

Ay (YT ST At 3R 0n) AT, 1981 & AR, 24 0 (FAT AR
3iraa) & Tore smardi & & aRaelt arg # fafderd gea (10um & % JTHR) I Figor
gl

(T) 60 mg/m?® (sT) 100 mg/m® (QiiT) 60 ug/m® (31) 100 pg/m®

As per Air (Prevention and Control of Pollution) Act, 1981, the concentration of
Particulate Matter (size less than 10um) in ambient air at residential area for 24 hours
(Time Weighted Average) is.

(A) 60 mg/m® (B) 100 mg/m® (C) 60 pg/m® (D) 100 pg/m?®

A TG & HER, el aTe T oh Tl 9S.TH.30,, AT @R ST 5 |rel
T $SRUT AT T a¥ & ford A d& AT B

(T) 31 SF=Tadr (&) 31 AT
(@) 30 RrdsR (8)) 30 FAdeT

As per SMPV rules, the 5 years storage license issued by PESO, Nagpur for all
pressure vessel is valid up to which month of the corresponding year.

(A) 31 January (B) 31%* March
(C) 30™ September (D) 30™ November

TENOT 20T ATEE! & ITAR 3.2, BIS T 3T AT AT §7

(T) 30 fA.aT./el. @) 50 ./
(&) 100 f&.am./ef. (31) 250 AT/

What is the permissible value of BOD allowed to discharge as Pollution control
norms?

(A) 30 mg/I (B) 50 mg/l

(C) 100 mg/! (D) 250 mg/l

3ifereTstet 3R SaerTeier 3 Rafelst & dier st H&T $SRuT gt a7 872

(@) 10 B (&) 12 Hre () 20 e (3N 24 HIe

What is the minimum safety storage distance to be maintained between Oxygen and
flammable gas cylinders?

(A) 10 ft (B) 12 ft (C) 20 ft (D) 24 ft

| &vm/3ifr. ‘warah. (site@fres Wiwam) / Sci/Engr. ‘SC’ (Industrial Safety) - F#/June 2019 | | 9 |
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37-%%%@@2016%@,%&%#&%&?%% afeisT @
.31, HIE I & TOT IsdF H 3TaThar glar g

(T) >10 §., >100 fr.am. - (&) >25 F., >200 for.am.
() >50 7., >500 fo.am. (31) >100 &., >1000 fe.3m.

As per the Gas Cylinder rules 2016, a license is required to store
kg, of a flammable non toxic gas.

cylinders or

(A) >10 nos, >100 kg (B) >25 nos, >200 kg
(C) >50 nos, >500 kg (D) >100 nos, >1000 kg

38. URCIY HREE HRAAIH F AR, S U HH & & AT Tl a) & o
FFdH EFR 3T ST g

(T) 95dBA (&) 90dBA (&) 85dBA (2Y) 80dBA

As per Indian Factories Act, the maximum permissible exposure limit to a continuous
noise for eight hours working is

(A) 950BA (B) 90dBA (C) 85dBA (D) 80dBA
39. 1S 4379-1981 & 3TER, olel AR FoAgx Uil LT & 5 Fehel arel hret T o RAfeist
A gl
(T) FelllreT (@) wde () hafeele (21 e

As per IS 4379-1981, the content in a cylinder with black body and bands of signal
red and golden yellow is

(A) Chlorine (B) Fluorine (C) Acytelene (D) Ammonia

40. sftefares wifeee Rfeist & o T wifsa #=arg:
(T) SITeT Hohet CUERECICH (&) e (31) #frem

What is the colour coding for industrial Acetylene Cylinder:

(A) Signal Red (B) Maroon (C) Black (D) Blue

| 10 | | 3wm/sf. s (sitezfres wam / Sci/Engr. ‘SC’ (Industrial Safety) — #t/June 2019 |
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41. forg ge @ 310 adifza Nt @ X RfET #I 3w g RfeET (3msTw 7241-1983)
T AT & |

(W) 1391 @M 10 R (&) 35 IR (3N 100 IR

‘Beyond what pressure the Cylinder filled with compressed gases are called as high-
pressure cylinders (IS 7241-1983).

(A) 1.3 bar (B) 10 bar (C) 35 bar (D) 100 bar
42. & 1Y U e TR dose & Fl §
(V) fore=T &R 3R 3= drecar (a) 3= &R 3R AT dreear

(&) oot &R 3R A= aeear (@) 3TT &Ry 3R 3T dreedr
An electric resistance welding operates with

(A) Low current and high voltage (B) High current and low voltage
(C) Low current and low voltage (D) High current and high voltage

43. "FiaT FE" B & 3T & & A gReNTe e T §

(T) FHRIRY Gicteel Ud T AL
(&) WreTT ALY Ud HRAGRT gfaeer
(@) R1eTa TS Ud G e
(3N) TRHA GIHLY TG T FHLA

“Factor of safety” is defined as the ratio of

(A) working stress and ultimate strength
(B) yield strength and working stress

(C) yield strength and endurance strength
(D) ultimate strength and yield strength

44. Teh L& 3YRIOT &, TAGehT 3TN 3TFaT-S80eT dogeT 3T kel &
foaT ST &, ATfer it aftget oR SarelT 3 fIu’id FaTg &t ekt 511 T |

(@) TpToler R (s wolerden TRt
() sy fAreren (&) e 3w FRes

is a safety device used in Oxy-fuel welding and cutting to prevent
reverse flow of flame to the supply line.

(A) Spark arrester (B) Flashback arrester
(C) Surge arrester (D) Electrolytic arrester

| ./ ‘warah’ (3itezPrs Rem) / Sci/Engr. ‘SC’ (industrial Safety) — S#/June 2019 | |




| weat o g / Question Booklet Code | A | | amédiame=tt / IPRC |

45.

46.

47.

48.

TF & T ) e @aweaes 39Risel @ HIgur aRd @AY, S JARISer &
& FEcaOT AETOT hl €Tl H TWT STl &

(T) T (s gEaTIaT

GO IEYE _ (&) TR

While storing different hazardous waste at one place, the critical characteristic to be
considered is of these wastes.

(A) Colour (B) Compatibility
(C) Concentration (D) Container

STer 3 AR o FfAfFEE F gER A Sui & SeFet @ dufad F 5
TEAT B AT §

(W) 5 ay @ 7 a¥ (@) 10 a¥ @) 1595

The validity of consent to operate orange category of industries as per water act and
air actis

(A) 5 years (B) 7 years (C) 10 years (D) 15 years
ST rafersSe FT HEAROT fhaeh @R fohar Sirean?

(T) STEARIOT CHEIMECICEN
(@) FENTEET (@) drerse 9t # STeT

Biomedical waste shall be disposed by?

(A) Incineration (B) Autoclaving
(C) Composting (D) Dumping in sealed containers

T I gy FAS ARTAT TS §

(T) Tl T FTS / Feh hT arecItden TS
(a) oo T FaTg X T T A e S
(%) ToIH Y TS - T T AR TS
(EY) ToIH T FATS + T T arEdaTh FeTs

The effective height of stack is given by

(A) Plume height / Actual height of the stack
(B) Plume height X Actual height of the stack
(C) Plume height — Actual height of the stack
(D) Plume height + Actual height of the stack
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54.

55.

56.

Bl

WA HT U 59 &7 g
WL o () et (&) eg3it (&N g
‘ is a liquid form of aerosol.
(A) Fume (B) Dust (C) Smoke (D) Mist
AR faegd fAaaTaeh, 1956 % 3TAR, 3ARerd 3=ur dleedr & 7Y -

J 3H B
(T) 250 dtec (s1) 650 dtec (1) 3300 aleT (31) 33000 dleT

As per The Indian Electricity Rules, 1956, exira high voltage means exceeding -
(A) 250 Volts (B) 650 Volts (C) 3300 Volts (D) 33000 Volts

Teh Halgy Ueh U & ¢ohs ol Ueh Falgd faege TaTs 3uenior & 9 367 & 3R odlier &

o'~

T §| STk GTY { GIA 1 HTAIET 1,000 30 T HTeY g1 & 220 dlee Tl HYh !
€, 3R gEX & ST T Helg T Pl &1 TG oY Y dleedl ldl deh T AT &1 URT &
TATE & IO |

()220 A (sr) 220 KA (&) 220 mA (31) 220000 A
A worker is grinding a metal piece with a portable electric grinding tool and sweating.
He has hand-to-hand resistance of 1,000 ohms. The worker contacts 220 volts with

one hand and touches a ground surface with the other. This completes the loop to
the voltage sources. Calculate the flow of current.

(A) 220 A (B) 220 kA (C) 220 mA (D) 220000 A

T 3uehull & araTe et T4 e, Helg o Jifeiehcs dTqeT= i eiar §
(V) 80° C (&) 100°C (@) 1352C (@) 200°C

Temperature class T4 rating in electrical equipment’s denotes the maximum
temperature of the surface is

(A) 80°C (B) 100°C (C) 135°C (D) 200°C
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58.

BY.

60.

e JehI & $1-FFTehet 3 T o STk AT grar §

(@) TATH o-FFTeT (S1) STERT S[-FFTeheT

() afsd -aFaHT (&) T sy-aFacheT

Which type of earthing has the least resistance value

(A) Static earthing (B) Equipment earthing

(C) Lightning earthing (D) Power earthing

faege ufter 3 RCCB &1 e & e

(T) SITAURT T e (a) SYeedT & 3TaTads @Y Aehadl
() faeg=#RoT I Aehett (3) HHR T AT

The prime function of an RCCB in an electrical circuit is

(A) Prevent overcurrent (B) Prevent voltage fluctuations
(C) Prevent electrocution (D) Prevent overload

T fEmeeT, STet FgeaquUl &1 a1 W dar RRT R qomely wohrd @1 ol e S
T g, 39 T STl &

() a1y @fgso () ary gfeRredr
() fawerar @Rfaa (3N 3w

o

A design where the system can suffer complete loss of function without creating
significant damage or danger is called

(A) Fault tolerant (B) Fault resistant
(C) Fail safe (D) Fool proof
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ANSWER KEY
Qn. No. Anéwer Kéy Qn. No. ‘Answer‘K’ey‘ Qn. ,No. - Answer Key

g, B 21. ¢ a1, C
2. C 22. B 42. l B
3. C 23. A 43. B
4. C 24. A 44. B
5. B 25. C 45, B
6. A 255 1 B 46. G
7. B 27. C 47. A
8. A 28. C 48. D
9. A 29. A 49, D
10. A 30. A 50. B
1. A 31. D 51. G
12. D 32. B 52. A
13. o 33. D 53. A
14,0 4| % 34. 2 54. D
15. A 35. A/lC 55. D
16. A 36. C 56. C
17 G 37. B 57. +
18. C 38. | 58.
19. A 39. D 59.

20. D 40. B 60. |

*** Question not considered for evaluation




